CHAPTER 5

Composite Bodies and Figures



* A composite body consists of a series of connected
“simpler” shaped bodies, which may be rectanqgular,
triangular, semicircular, etc. Such a body can often
be sectioned or divided into its composite parts.
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TABLE D/3 PROPERTIES OF PLANE FIGURES Continued
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Example 1

* Determine the centroid (x, y ) of the composite
area. (TR T T
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Sol 1
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Example 2

* Determine the centroid (x, y ) of the body.
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sol 2

X

Segment L (mm) X(mm) ¥(mm) T (mm) XL (mm°) YL (mm?) ZL (mm’)

1 w(60) = 188.5 6l -38.2 0 11 310 ~T7200 0

2 40 0 20 ) 0 S0 0

3 20 0 40 -10 0 SO0 =200
=L = 2485 =XL = 11310 =VL = =560 ZEZL = =200
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Example 3

* Determine the centroid (x, y ) of the composite
area. °
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Example 4

* Determine the centroid (x, y ) of the composite
area.
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